
Product 

Number

Product 

Group
OEM No Tractor Model Price

SMTF01 ENGINE 47033277

New 

Holland

Fiat

TDD Series ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SA001 Back System 883876
Massey 

Ferguson
MF 135-240   ASK PRICE

SA002 Back System 886162
Massey 

Ferguson
MF 165-285   ASK PRICE

BELT TENSIONER

9.01.2023

TRACTOR BACK SYSTEM

Product Description

SÖNMEZLER OTOMOTİV 
export@sonmezleroto.com

sonmezleroto@gmail.com

www.sonmezleroto.com

Product Description

SWINGING DRAWBAR 

PIN

 19MMx220MM

SWINGING DRAWBAR 

PIN

 19MMx263MM

NEW PRODUCT

mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
mailto:satis@sonmezler
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
http://www.sonmezleroto.com/
mailto:satis@sonmezler
mailto:satis@sonmezler
http://www.sonmezleroto.com/


SA003 Back System 886163
Massey 

Ferguson
MF 165-285   ASK PRICE

SA004 Back System 883877
Massey 

Ferguson
MF 135-240   ASK PRICE

SA005 Back System

376399  

195357M1

373399

Massey 

Ferguson
MF 135 ASK PRICE

SA006 Back System
893567M1

3582662M1

Massey 

Ferguson
MF 165-285 ASK PRICE

SA007 Back System 893568M1
Massey 

Ferguson
MF 165-285 ASK PRICE

SA008 Back System 3579743M1
Massey 

Ferguson
MF 240-285 ASK PRICE

DRAWBAR HOLDING PIN

16 MM

LEVELLING BOX 

KNUCKLE PIN

(CLEVIS PIN)

16MM

LEVELLING BOX 

KNUCKLE PIN

(CLEVIS PIN)

19 MM

LEVELLING BOX 

KNUCKLE PIN

(CLEVIS PIN)

22 MM

SWINGING DRAWBAR 

PIN

19MMx320MM

SWINGING DRAWBAR 

PIN

19MMx360MM



SA009 Back System
Massey 

Ferguson
MF 135-240 ASK PRICE

SA010 Back System 0017744U91
Massey 

Ferguson

MF 3050

3060
ASK PRICE

SA011 Back System
Massey 

Ferguson
MF 165-285 ASK PRICE

SA012 Back System 0016635U91
Massey 

Ferguson

MF 3095

3105

3075

3085

ASK PRICE

SA013 Back System
886160

899304

Massey 

Ferguson

MF

135 

285

ASK PRICE

SA014 Back System
886160

899304

Massey 

Ferguson

MF

135                                  

285

ASK PRICE

SWINGING DRAWBAR 

SUD 

3/4NF X 3/4 NC

MF 135-240 HYDRAULIC 

ADJUSTMENT PIN SET

19 MM

MF 135-240 HYDRAULIC 

ADJUSTMENT PIN SET 

25 MM

SWINGING DRAWBAR 

SUD (WITH NUT)

3/4NF X 3/4 NC

MF 135-240 HYDRAULIC 

ADJUSTMENT PIN SET

16 MM

MF 135-240 HYDRAULIC 

ADJUSTMENT PIN SET

18 MM



SA013A Back System
886160

899304

Massey 

Ferguson

MF

135 

285

ASK PRICE

SA014A Back System
886160

899304

Massey 

Ferguson

MF

135                                  

285

ASK PRICE

SA015 Back System 592408-B Fiat

FİAT 

480-640-

55/46

ASK PRICE

SA016 Back System 568720 Fiat Fiat 480 ASK PRICE

SA017 Back System 568721 Fiat Fiat 480 ASK PRICE

SA018 Back System 574882 Fiat
Fiat 640-

55/46
ASK PRICE

CLEVIS PIN

18MM*5,5CM

CLEVIS PIN

25MM*8CM

SWINGING DRAWBAR 

BASE PIN

 22MMX8CM

CLEVIS PIN

18MM*7CM

SWINGING DRAWBAR 

SUD (WITH NUT)

5/8NF X 5/8 NC

SWINGING DRAWBAR 

SUD

5/8NF X 5/8 NC



SA019 Back System 11255921 Fiat Fiat 480 ASK PRICE

SA020 Back System 11797920 Fiat Fiat 640 ASK PRICE

SA021 Back System  44018047 Fiat

Fiat 

55/56

70/56

80/66

ASK PRICE

SA022 Back System  44018046 Fiat

Fiat 

55/56

70/56

80/66

ASK PRICE

SA023 Back System STEYR STEYR ASK PRICE

SA024 Back System 645923 - ALL ASK PRICE

U-BOLT FOR STEYR

LIFT ARM CHAIN

22 MM

DRAWBAR MOUNTING 

STUDS SET LONG 

(WITH M14 NUT)

RIM WEIGHT BOLT LONG

RIM WEIGHT BOLT 

SHORT

DRAWBAR MOUNTING 

STUDS SET SHORT (WITH 

M14 NUT)



SA025 Back System 645923 - ALL ASK PRICE

SA026 Back System
886431

160230
- GOLD ASK PRICE

SA027 Back System - GOLD ASK PRICE

SA028 Back System 5174920 Fiat TD SERİSİ ASK PRICE

SA029 Back System Fiat 480 ASK PRICE

SA030 Back System 4952085 Fiat 
80/66

70/56
ASK PRICE

LOWER QUICK HITCH 

BALL 
56 MM X 28 MM 

LOWER QUICK HITCH 

BALL 

64 MM X 28 MM 

LIFT ARM CHAIN 

28 MM

TOP LINK PIN

HYDRAULIC LIFT ARM 

END

SWINGING DRAWBAR 

BOLT



SA031 Back System 4952084 Fiat 
80/66

70/56
ASK PRICE

SA032 Back System 5109989 Fiat 

TD 95

110

90

ASK PRICE

SA033 Back System 5111451 Fiat 

TD 95

110

90

ASK PRICE

SA034 Back System 5177788 Fiat TD SERİSİ ASK PRICE

SA035 Back System 5116247 Fiat 
80/66

70/66
ASK PRICE

SA036 Back System 5116246 Fiat 
80/66

70/66
ASK PRICE

SWINGING DRAWBAR 

BASE PIN

DRAFT SENSING BAR 

BUSH

DRAFT SENSING BAR 

BUSH

DRAFT SENSING BAR 

BUSH

DRAFT SENSING BAR 

BUSH

DRAFT SENSING BAR 

BUSH



SA037 Back System 5101047 Fiat 
80/66

70/66
ASK PRICE

SA038 Back System 5099403 Fiat TD SERİSİ ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SC001
Hitches & 

Linkage 

System
831513M1

Massey 

Ferguson

MF 135-240  

FORD/ CASE
ASK PRICE

SC002
Hitches & 

Linkage 

System
195589 ALL ASK PRICE

SC003
Hitches & 

Linkage 

System

Massey 

Ferguson

MF 135-240  

FORD/ CASE
ASK PRICE

Hitches & Linkage System

Product 

TOP LINK PIN 

19 MM 15 CM

Description

DRAWBAR U BOLT          

DRAWBAR U BOLT          

TOP LINK PIN 

19 MM 12 CM

TOP LINK PIN WITH 

CHAIN

19 MM 12 CM



SC004
Hitches & 

Linkage 

System
180901

Massey 

Ferguson
MF 135-185 ASK PRICE

SC005
Hitches & 

Linkage 

System
1800202

Massey 

Ferguson
MF 135-185 ASK PRICE

SC006
Hitches & 

Linkage 

System
892474

Massey 

Ferguson
MF 165-240 ASK PRICE

SC007
Hitches & 

Linkage 

System

Massey 

Ferguson
MF 165-240 ASK PRICE

SC008
Hitches & 

Linkage 

System

Massey 

Ferguson
MF 165-240 ASK PRICE

SC009
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

TOP LINK PIN 

22 MM 17 CM

TOP LINK PIN 

22 MM 12 CM

TOP LINK PIN 

22 MM 15 CM

 TOP LINK PIN WITH 

SHOULDER

19 MM 25 CM

 TOP LINK PIN WITHOUT 

SHOULDER

19 MM 25 CM

TOP LINK PIN WITH 

CHAIN

22 MM 12 CM



SC010
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

SC011
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

SC012
Hitches & 

Linkage 

System
892476

Massey 

Ferguson
MF 165-285 ASK PRICE

SC013
Hitches & 

Linkage 

System
892476

Massey 

Ferguson
MF 165-285 ASK PRICE

SC014
Hitches & 

Linkage 

System
892476

Massey 

Ferguson
MF 165-285 ASK PRICE

SC015
Hitches & 

Linkage 

System
892476

Massey 

Ferguson
MF 165-285 ASK PRICE

TOP LINK PIN 

22 MM 19 CM

TOP LINK PIN 

22 MM 22 CM

TOP LINK PIN WITH 

CHAIN

25 MM 12 CM

TOP LINK PIN 

25 MM 12 CM

TOP LINK PIN 

25 MM 15 CM

TOP LINK PIN WITH 

CHAIN

25 MM 15 CM



SC016
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

SC017
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

SC018
Hitches & 

Linkage 

System
SPECIAL ASK PRICE

SC019
Hitches & 

Linkage 

System
893420

Massey 

Ferguson
MF 285   ASK PRICE

SC020
Hitches & 

Linkage 

System
354568

Massey 

Ferguson
MF 240   ASK PRICE

SC021
Hitches & 

Linkage 

System
886161

Massey 

Ferguson
265-285 ASK PRICE

TOP LINK PIN 

28 MM 12 CM

TOP LINK PIN 

28 MM 15 CM

TOP LINK PIN WITH 

CHAIN

28 MM 12 CM

LOWER LINK PIN SHORT 

(WITH 5/8 NUT )        

SWINGING DRAWBAR 

PIN

 25 MM

LOWER LINK PIN LONG 

(WITH 5/8 NUT )        



SC022
Hitches & 

Linkage 

System

International ENTER ASK PRICE

SC023
Hitches & 

Linkage 

System
579877 Fiat

450

480
ASK PRICE

SC024
Hitches & 

Linkage 

System

852013 

5086260
Fiat

480

640

55/46

ASK PRICE

SC025
Hitches & 

Linkage 

System
7254003 Tümosan TÜMOSAN ASK PRICE

SC026
Hitches & 

Linkage 

System
 Tümosan TÜMOSAN ASK PRICE

SC027
Hitches & 

Linkage 

System
Tümosan TÜMOSAN ASK PRICE

DRAWBAR U BOLT          

DRAWBAR HITCH PIN

22 MM

TOP LINK PIN

25 MM

TOP LINK PIN

25 X 19

SWINGING DRAWBAR 

PIN

 22MM

TOP LINK PIN WITH 

SHEET METAL

19 MM



SC028
Hitches & 

Linkage 

System
ALL ASK PRICE

SC029
Hitches & 

Linkage 

System
ALL ASK PRICE

SC030
Hitches & 

Linkage 

System
ALL ASK PRICE

SC031
Hitches & 

Linkage 

System
ALL ASK PRICE

SC032
Hitches & 

Linkage 

System
ALL ASK PRICE

SC032A
Hitches & 

Linkage 

System
573202 Fiat 480 ASK PRICE

BALL HEAD HITCH PIN

28 MM 18 CM

BALL HEAD HITCH PIN

25 MM 18 CM

TRAILER HITCH PIN 

22MMX18CM

TRAILER HITCH PIN 

25MMX18CM

TRAILER HITCH PIN 

28MMX18CM

TRAILER HITCH PIN

28 MM



SC033
Hitches & 

Linkage 

System
ALL ASK PRICE

SC033A
Hitches & 

Linkage 

System
5960606 TÜMOSAN TD ASK PRICE

SC034
Hitches & 

Linkage 

System
ALL ASK PRICE

SC035
Hitches & 

Linkage 

System
ALL ASK PRICE

SC036
Hitches & 

Linkage 

System
ALL ASK PRICE

SC037
Hitches & 

Linkage 

System
ALL ASK PRICE

TRAILER HITCH PIN 

30MMX18CM

TRAILER HITCH PIN 

32MMX18CM

TRAILER HITCH PIN

22MM X 25CM

TRAILER HITCH PIN

30 MM

TRAILER HITCH PIN

25MM X 25CM

TRAILER HITCH PIN 

28MM X 25CM



SC038
Hitches & 

Linkage 

System
ALL ASK PRICE

SC039
Hitches & 

Linkage 

System
ALL ASK PRICE

SC040
Hitches & 

Linkage 

System
28 X 28 ASK PRICE

SC041
Hitches & 

Linkage 

System
26 X 28 ASK PRICE

SC042
Hitches & 

Linkage 

System
25 X 28 ASK PRICE

SC043
Hitches & 

Linkage 

System
22 X 28 ASK PRICE

TRAILER HITCH PIN

30MM X 25CM

25*28 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    

22*28 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    

TRAILER HITCH PIN

32MM X 25CM

28*28 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    

26*28 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    



SC044
Hitches & 

Linkage 

System
25 X 22 ASK PRICE

SC045
Hitches & 

Linkage 

System
22 X 22 ASK PRICE

SC046
Hitches & 

Linkage 

System
ALL ASK PRICE

SC047
Hitches & 

Linkage 

System
ALL ASK PRICE

SC048
Hitches & 

Linkage 

System
ALL ASK PRICE

SC049
Hitches & 

Linkage 

System
ALL ASK PRICE

22*22 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    

28*28 LIFT ARM 

(CROWBAR) PIN (WITH 

3/4 NUT)

22*28 LIFT ARM 

(CROWBAR) PIN (WITH 

3/4 NUT)

22*22 LIFT ARM 

(CROWBAR) PIN (WITH 

3/4 NUT)

25*28 LIFT ARM 

(CROWBAR) PIN (WITH 

3/4 NUT)

25*22 LIFT ARM 

(MOUNTING) PIN 

(WITH 3/4 NUT)    



SC050
Hitches & 

Linkage 

System
ALL ASK PRICE

SC051
Hitches & 

Linkage 

System
ALL ASK PRICE

SC052
Hitches & 

Linkage 

System
ALL ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SSFI01 Gearbox 4960849 Fiat 480 ASK PRICE

SSFI02 Gearbox 4961019 Fiat 640 ASK PRICE

TOP LINK DUAL 

CATEGORY PIN        

19 X 25 X 19

FİAT 480 GEAR LEVER 

(MAIN)

GEARBOX

LOWER LINK DUAL 

CATEGORY PIN 

22 X 28 X 22

KAZAYAĞI KÜLTÜVATÖR 

TİLLER PİMİ 

 (1'' SOMUNLU) 28 X 28

Product Description

FİAT 640 GEAR LEVER 

(MAIN)



SSFI03 Gearbox 4961020 Fiat 640 ASK PRICE

SSFI04 Gearbox 5123867 Fiat 55/46 ASK PRICE

SSF01 Gearbox C7NN7210AD FORD 3000 ASK PRICE

SSF02 Gearbox C5NN7210AC FORD 3000 ASK PRICE

SSF03 Gearbox C5NN7210G FORD 5000 ASK PRICE

SSF04 Gearbox C7NN7210AE FORD 5000 ASK PRICE

FORD 5000 GEAR LEVER 

(MAIN)

FORD 5000 GEAR LEVER 

FİAT 640 GEAR LEVER 

FİAT 55/46 GEAR LEVER 

(DOUBLE TWIST)

FORD 3000 GEAR LEVER 

(MAIN)

FORD 3000 GEAR LEVER 



SSS01 Gearbox 292240143 STEYR 768 ASK PRICE

SSS02 Gearbox 292240141 STEYR 768 ASK PRICE

SSS03 Gearbox 337240077 STEYR 8073 ASK PRICE

SSS04 Gearbox 337240095 STEYR 8073 ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SDT01
Clutch 

System
4998972-2 TÜMOSAN 780 ASK PRICE

STEYR 8073 GEAR LEVER 

STEYR 768 GEAR LEVER 

(MAIN)

STEYR 768 GEAR LEVER 

CLUTCH STICK

CLUTCH SYSTEM

Product Description

STEYR 8023 GEAR LEVER 

(MAIN)



SDB01
Clutch 

System
5200230051 BAŞAK ASK PRICE

SDB02
Clutch 

System
5200230073 BAŞAK ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SH001
Hydraulic 

System
886348

Massey 

Ferguson

135

285
ASK PRICE

SH002
Hydraulic 

System
886351

Massey 

Ferguson

135

285
ASK PRICE

SH003
Hydraulic 

System
5088216-A Fiat 54C ASK PRICE

POWER STEERING 

CYLINDER PIN KIT

SHORT TYPE

HYDRAULIC DRAFT 

CONTROL PLUNGER

HYDRAULIC DRAFT 

CONTROL PLUNGER 

SEAT

DescriptionProduct 

HYDRAULIC SYSTEM

CLUTCH BAR KIT

 57.6 CM

CLUTCH BAR KIT

44,90 CM



SH004
Hydraulic 

System

5088216

5088920
Fiat 54C ASK PRICE

SH005
Hydraulic 

System
4997697-A Fiat 70/56 ASK PRICE

SH006
Hydraulic 

System
4997697 Fiat 70/56 ASK PRICE

SH007
Hydraulic 

System
5102972 Fiat 70/56-54C ASK PRICE

SH008 Hydraulic 829458M92
Massey 

Ferguson
165/285 ASK PRICE

SH023
Hydraulic 

System
TÜMOSAN ASK PRICE

POWER STEERING 

CYLINDER PIN KIT

SHORT TYPE 

(WITHOUT BUSH)

POWER STEERING 

CYLINDER PIN KIT

LONG TYPE

POWER STEERING 

CYLINDER PIN KIT

LONG TYPE 

(WITHOUT BUSH)

POWER STEERING 

CYLINDER PIN BUSH

STEERING BRACKET 

ADJUSTING PIN

DAMPER VALVE 

CONTROLLER



SH014
Hydraulic 

System
5088771A Fiat 70/56 ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SK001
CAB and 

BODY 

SYSTEM
354430X1

Massey 

Ferguson

240                                  

265                               

285

ASK PRICE

SK002
CAB and 

BODY 

SYSTEM
355729

Massey 

Ferguson
240                                  265                               285 ASK PRICE

SK003
CAB and 

BODY 

SYSTEM
353648

Massey 

Ferguson

240                                  

265                               

285

ASK PRICE

SK004
CAB and 

BODY 

SYSTEM

Massey 

Ferguson

240                                                              

255
ASK PRICE

FENDER BOLT 

(WITH 5/8 NUT)

5/8 X 19 CM

CAB and BODY SYSTEM

Front Axle System

FENDER BOLT 

(WITH 5/8 NUT)

5/8 X 16 CM

Product Description

FENDER BOLT 

(WITH 5/8 NUT)

5/8 X 26 CM

FENDER BOLT 

(WITH 5/8 NUT)

5/8 X 22 CM

LIFT ARM KIT



Product 

Number

Product 

Group
OEM No Tractor Model Price

SO001
Front Axle 

System
5085926 Fiat

80/66

95/66

TD95D

ASK PRICE

SO002
Front Axle 

System
5085925 Fiat TD85D ASK PRICE

SO003
Front Axle 

System
5085924 Fiat

70/56  

TD75D
ASK PRICE

SO004
Front Axle 

System
5085923 Fiat

55/46

60/56

70/56

ASK PRICE

SO005
Front Axle 

System
5085926 Fiat

80/66

95/66

TD95D

ASK PRICE

SO006
Front Axle 

System
5085925 Fiat TD85D ASK PRICE

FRONT WEIGHT BOLT 

(FOR 8 WEIGHT)

M16 52 CM

FRONT WEIGHT BOLT KIT 

(FOR 4 WEIGHT) 

M16 27 CM

FRONT WEIGHT BOLT 

(FOR 10 WEIGHT)

M16 64 CM

FRONT WEIGHT BOLT KIT 

(FOR 10 WEIGHT) 

M16 64 CM

FRONT WEIGHT BOLT KIT 

(FOR 8 WEIGHT) 

M16 52 CM

FRONT WEIGHT BOLT KIT 

(FOR 6 WEIGHT) 

M16 40 CM

Product Description



SO007
Front Axle 

System
5085924 Fiat

70/56

TD75D
ASK PRICE

SO008
Front Axle 

System
5085923 Fiat

55/46

60/56

70/56

ASK PRICE

SO009
Front Axle 

System
44018768 Fiat ALL ASK PRICE

SO010
Front Axle 

System
5118742 Fiat 80/66 ASK PRICE

SO011
Front Axle 

System
5093975 Fiat TD ASK PRICE

SO012
Front Axle 

System
87698584 Fiat TD ASK PRICE

FRONT WEIGHT BOLT 

(FOR 4 WEIGHT)

M16 27 CM

FRONT WEIGHT BOLT 

ROVE 

55 X 17 X 8

FRONT WEIGHT BOLT 

(FOR 6 WEIGHT)

M16 40 CM

SWINGING DRAWBAR 

PIN                     

30MM X 16MM

FRONT WEIGHT HITCH 

PIN

32 MM

FRONT WEIGHT HITCH 

PIN

28 MM



SO013
Front Axle 

System
BAŞAK ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SP001 Pivot Pin 181229M5
Massey 

Ferguson
MF 135 ASK PRICE

SP002 Pivot Pin
181229M5

181299

Massey 

Ferguson
MF 135 ASK PRICE

SP003 Pivot Pin 1893419M1
Massey 

Ferguson
MF 165 ASK PRICE

SP004 Pivot Pin 1867851M3
Massey 

Ferguson
MF 240   ASK PRICE

Description

LOWER LINK ARM PIVOT 

PIN              

LOWER LINK ARM PIVOT 

PIN              

LOWER LINK ARM PIVOT 

PIN              

Pivot Pin

Product 

SQUARE WASHER 

75*75*12

LOWER LINK ARM PIVOT 

PIN

(WITH HEAT 

TREATMENT)            



SP005 Pivot Pin 1867851M3
Massey 

Ferguson
MF 240   ASK PRICE

SP006 Pivot Pin 1867243
Massey 

Ferguson
MF 285   ASK PRICE

SP007A Pivot Pin 888311M1
Massey 

Ferguson

MF 

148 - 240
ASK PRICE

SP007 Pivot Pin 1670939
Massey 

Ferguson
240 ASK PRICE

SP008 Pivot Pin 1670939
Massey 

Ferguson
240 ASK PRICE

SP009 Pivot Pin 1670939
Massey 

Ferguson
240 ASK PRICE

FRONT AXLE BEAM PIVOT 

PIN

 (WITH HEAT TREATMENT 

AND GRINDING)

FRONT AXLE BEAM 

PIVOT PIN

FRONT AXLE BEAM 

PIVOT PIN 

(WITH HEAT 

TREATMENT)

FRONT AXLE BEAM 

PIVOT PIN 

(WITH HEXAGON CASTLE 

NUT)

LOWER LINK ARM PIVOT 

PIN 

(WITH HEAT 

TREATMENT)            

LOWER LINK ARM PIVOT 

PIN              



SP010 Pivot Pin 898016
Massey 

Ferguson
285 ASK PRICE

SP011 Pivot Pin 898016
Massey 

Ferguson
285 ASK PRICE

SP12A Pivot Pin E4NNF537AA Ford 7700 ASK PRICE

SP012 Pivot Pin E4NNF537AA Ford
4000

5000
ASK PRICE

SP013 Pivot Pin C5NN3N159A Ford 5000 ASK PRICE

SP014 Pivot Pin
C5NN3N160A

81802839
Ford 5000 ASK PRICE

FRONT AXLE BEAM PIVOT 

PIN

 (WITH HEAT TREATMENT 

AND GRINDING)

FRONT AXLE SUPPORT 

PIN

LOWER LINK ARM PIVOT 

PIN

(WITH HEXAGON CASTLE 

NUT)

FRONT CENTER BEAM 

PIVOT PIN

LOWER LIFT LINK PIN

(WITH HEXAGON CASTLE 

NUT)

FRONT AXLE BEAM 

PIVOT PIN



SP015 Pivot Pin 4954461 Fiat 640 ASK PRICE

SP016 Pivot Pin 4954462 Fiat 480 ASK PRICE

SP017 Pivot Pin 5099394 Fiat 80/66 ASK PRICE

SP018 Pivot Pin 5085028 Fiat
65/46

70/56
ASK PRICE

SP019 Pivot Pin 5085027 Fiat
55/46

54C
ASK PRICE

SP020 Pivot Pin 4954461 Fiat 640 ASK PRICE

LOWER LINK IMPLEMENT 

PIN LONG

22 MM             

LOWER LINK 

IMPLEMENT PIN

32 X 28 X 22

LOWER LINK 

IMPLEMENT PIN

32 X 28 X 22

LOWER LINK 

IMPLEMENT PIN 

28 MM          

LOWER LINK 

IMPLEMENT PIN LONG

28X22

LOWER LINK 

IMPLEMENT PIN SHORT

28X22             



SP021 Pivot Pin 4954462 Fiat 480 ASK PRICE

SP022 Pivot Pin 5099904 Fiat
TT  SERIAL

TT TIGER
ASK PRICE

SP022A Pivot Pin 570555 Fiat TT SERİSİ ASK PRICE

SP023 Pivot Pin 5099394A Fiat 80/66 ASK PRICE

SP024 Pivot Pin 4954462A Fiat 480 ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

Brake System

Product Description

LOWER LINK 

IMPLEMENT PIN SHORT

22 MM             

LOWER LINK 

IMPLEMENT PIN

28 MM              

LOWER LINK 

IMPLEMENT PIN

28MM * 51 CM

LOWER LINK 

IMPLEMENT PIN

28MM * 22 MM 

HEIGHT = 51 CM

LIFT ARM PIN BUSH



SF001
Brake 

System
1861676

Massey 

Ferguson

MF 

165-285
ASK PRICE

SF002 Brake System 567342 Fiat
450 

480
ASK PRICE

SF003 Brake System
4959411

4959315
Fiat

640

70/56
ASK PRICE

SF004
Brake 

System
10092611 Fiat 

480

80-66
ASK PRICE

SF005
Brake 

System
5117516 Fiat 

70-56

80-66
ASK PRICE

SF006
Brake 

System
5117517 Fiat 

70-56

80-66
ASK PRICE

BRAKE ACTUATOR ROD

BRAKE ADJUST ROD 

ASSEMBLY SHORT TYPE

BRAKE ADJUST ROD 

ASSEMBLY LONG TYPE

BRAKE ADJUST NUT

BRAKE ADJUST ROD

BRAKE ADJUST SHAFT

(LONG 16 CM)



SF007
Brake 

System
5149456 Fiat TD SERİSİ ASK PRICE

SF008 Brake System 554215-T Fiat

450 

480

640

ASK PRICE

SF009
Brake 

System
5086609 Fiat

55/46

54C
ASK PRICE

SF010
Brake 

System
29500350008 STEYR

8073

8053
ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SM001 Other Parts ALL ASK PRICE

BRAKE ADJUST SHAFT

(SHORT 13 CM)

OTHER PARTS

Product Description

DRUM MOWER BLADE 

PIN

BRAKE ACTUATOR ROD

BRAKE PEDAL SHAFT 

LONG

HAND BRAKE REPAR KIT



SM002 Other Parts ALL ASK PRICE

SM003 Other Parts ALL ASK PRICE

SM004 Other Parts ALL ASK PRICE

SM005 Other Parts ALL ASK PRICE

SM006 Other Parts ALL ASK PRICE

SM007 Other Parts ALL ASK PRICE
SHAFT PIN          

14MM X 7 CM

SHAFT PIN      

12MM X 8 CM

SHAFT PIN

12MM X 7 CM

SHAFT PIN 

13MM X 8 CM

SHAFT PIN 

13MM X 7 CM

SHAFT PIN

14MM X 8 CM



SM008 Other Parts ALL ASK PRICE

SM009 Other Parts ALL ASK PRICE

SM010 Other Parts ALL ASK PRICE

SM011 Other Parts ALL ASK PRICE

SM012 Other Parts 3/4 ASK PRICE

SM013 Other Parts 5/8 ASK PRICE

SHAFT PIN NEW MODEL

 13 MM 

SHAFT PIN NEW MODEL

14 MM 

HITCH BALL 

( WITH 7/8 NUT )

HITCH BALL

( WITH 3/4 NUT )

HYDRAULIC UNION 

FITTING 

(WELDING TYPE)

HYDRAULIC UNION 

FITTING 

(WELDING TYPE)



SM014 Other Parts 5/8 X 5/8 ASK PRICE

SM015 Other Parts 5/8 X 1/2 R ASK PRICE

SM016 Other Parts 3/4 X 1/2 R ASK PRICE

SM017 Other Parts 3/4 ASK PRICE

SM018 Other Parts 5/8 ASK PRICE

SM019 Other Parts 3/4 ASK PRICEWHEEL NUT 

HYDRAULIC UNION 

FITTING

HYDRAULIC UNION 

FITTING

HYDRAULIC UNION 

FITTING

TRAILER WHEEL BOLT  

(WITH 3/4 NUT)

TRAILER WHEEL BOLT  

(WITH 5/8 NUT)



SM020 Other Parts 5/8 ASK PRICE

SM021 Other Parts ALL ASK PRICE

SM022 Other Parts ALL ASK PRICE

SM023 Other Parts ALL ASK PRICE

SM024 Other Parts ALL ASK PRICE

SM025 Other Parts ALL ASK PRICE
LINCH PIN LONG

(10 MM)

WHEEL NUT 

LINCH PIN LONG

WITH R CLIP

(10 MM)

LINCH PIN SHORT

WITH R CLIP

(10 MM)

LINCH PIN LONG

WITH R CLIP

(8 MM)

LINCH PIN SHORT

WITH R CLIP

(8 MM)



SM026 Other Parts ALL ASK PRICE

SM027 Other Parts ALL ASK PRICE

SM028 Other Parts ALL ASK PRICE

SM029 Other Parts ALL ASK PRICE

SM030 Other Parts ALL ASK PRICE

SM031 Other Parts ALL ASK PRICE

LINCH PIN SHORT

(8 MM)

D PIN

16 MM

D PIN

14 MM

D PIN

12 MM

LINCH PIN SHORT

(10 MM)

LINCH PIN LONG

(8 MM)



SM032 Other Parts 5122985 Fiat TD SERİSİ ASK PRICE

SM033 Other Parts 7160600201 BAŞAK ASK PRICE

SM034 Other Parts 703403048A

SONALİKA

BAŞAK

ERKUNT

 2047-2060 

ERKUNT-58
ASK PRICE

Product 

Number

Product 

Group
OEM No Tractor Model Price

SR001
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR002
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SPRING PIN 

19 MM X 11 CM

(WITH 3/4 NUT)

SPRING PIN 

19 MM X 13 CM 

(WITH 3/4 NUT)

TRAILER and PLOUGH PARTS

Product Description

FRONT DRIVE LOWER 

PIN

CRANKSHAFT NUT

PTO SHAFT NUT



SR003
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR004
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR005
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR006
Trailer & 

Plought 

Parts
U BOLT ASK PRICE

SR007
Trailer & 

Plought 

Parts
U BOLT ASK PRICE

SR008
Trailer & 

Plought 

Parts
V BOLT ASK PRICE

U BOLT

3/4 X11,5 CM 

GAP:72MM

U BOLT

5/8 X 10 CM 

GAP:102 MM

V BOLT

5/8 X 17 CM 

GAP:95 MM

SPRING PIN            

25 MM X 11 CM 

(WITH 7/8 NUT)

SPRING PIN            

25 MM X 13 CM 

(WITH 7/8 NUT)

SPRING PIN            

25 MM X 15 CM 

(WITH 7/8 NUT)



SR009
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR010
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR011
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR012
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR013
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR014
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

U BOLT WITH NUT            

5/8  12 CM              

U BOLT WITH NUT            

5/8  14 CM              

U BOLT WITH NUT            

5/8  16 CM              

U BOLT WITH NUT            

5/8  18 CM              

U BOLT WITH NUT            

5/8  20 CM              

U BOLT WITH NUT            

5/8  10 CM             



SR015
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR016
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR017
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR018
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR019
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR020
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

U BOLT WITH NUT            

5/8  30 CM              

U BOLT WITH NUT            

5/8  32 CM              

U BOLT WITH NUT            

5/8  22 CM              

U BOLT WITH NUT            

5/8  24 CM              

U BOLT WITH NUT            

5/8  26 CM              

U BOLT WITH NUT            

5/8  28 CM              



SR021
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR022
Trailer & 

Plought 

Parts
TRAILER ASK PRICE

SR023
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR024
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR025
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR026
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

PLOUGHT U BOLT WITH 

NUT    

5/8 14 CM

PLOUGHT U BOLT WITH 

NUT    

5/8 16 CM

U BOLT WITH NUT            

3/4  28 CM              

U BOLT WITH NUT            

3/4  30 CM              

PLOUGHT U BOLT WITH 

NUT     

5/8 10 CM

PLOUGHT U BOLT WITH 

NUT   

 5/8 12 CM



SR027
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR028
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR029
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR030
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR031
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

SR032
Trailer & 

Plought 

Parts
PLOUGHT ASK PRICE

PLOUGHT U BOLT WITH 

NUT    

5/8 18 CM

PLOUGHT U BOLT WITH 

NUT    

5/8 20 CM

PLOUGHT U BOLT WITH 

NUT   

 3/4  30 CM

PLOUGHT U BOLT WITH 

NUT   

 3/4  28 CM

PLOUGHT U BOLT WITH 

NUT    

3/4  18 CM

PLOUGHT U BOLT WITH 

NUT    

3/4  16 CM



SR033
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR034
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR035
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR036
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR037
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR038
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

5/16 

8 CM

5/16                        

10 CM

5/16                        

12 CM

5/16                        

15 CM

3/8                       

 6 CM

3/8                         

8 CM



SR039
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR040
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR041
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR042
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR043
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR044
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

3/8                         

20 CM

3/8                        

25 CM

3/8                         

30 CM

3/8                         

10 CM

3/8                         

12 CM

3/8                        

15 CM



SR045
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR046
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR047
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR048
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR049
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR050
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

3/8                        

35 CM

7/16                        

12 CM

7/16                         

15 CM

7/16                        

20 CM

7/16                         

25 CM

7/16                         

30 CM



SR051
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR052
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR053
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR054
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR055
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR056
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

1/2                         

30 CM

1/2                         

35 CM

7/16                         

35 CM

1/2                         

15 CM

1/2                         

20 CM

1/2                        

 25 CM



SR057
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR058
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR059
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR060
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

SR061
Trailer & 

Plought 

Parts
CENTER BOLT ASK PRICE

9/16                       

  15 CM

9/16                       

  20 CM

9/16                       

 25 CM

9/16                         

30 CM

9/16                         

35 CM


